TN EMERSE RAH
W PRIMARY FLUID SYSTEMS INC.
1249 AT AR RIS A R 1050 2 4 LTT 4A8

BiE: (905) 333-8743 f£E.: (905) 333-8746
G EREIE: 800-766-6580 Email: primary@primaryfluid. com

T ERIEHREIESRS
I TR G0 WA T OIS T I, 23R A R W O RSB 3R 2 —

TEST R A AT B AR O BEAR R P . B TE RO T — DRI G . BRSNS
—MAEA ) 2 B LR, FE BB AR IS

TSN 1R A P ol RS ] AR A

6 s KMIE A HAR 47671 1E;

8 S KNG & HAR N 871074 IE .

PRI FRIVE S IR PRI 4R AL 72" NPT, BSPT MR4rsliik .

6 FhAARHK A H ™ ol BLER AL, REMSII AL K 2 B AR I AT o BRSO G — An v AR N5 58, 1
NATERERT, WA C MISRSE rT LUERAL, EERE EMAN T ORARIRANIM L) D sAETT BT A g #E

T (14 s R 2 AR SEP R ANE], A\ 150 F1 3000PSIG F1 60° C (140°F) 1| 260° C (500°F).

| 611 Ejz 8”

»
al Ll

2°/g" 5 4°/g" ——J

.

— | % NPI,BSPI
| s ‘

KA

LRk

v




TESN RBRAETR T 1 4REL ...

1y fHIE 4 A AL A AN & JE(Teflon )it 22 BT 3 15

2. PATES W) bRAERCEAT IR WORARBAT VT A SR B RS I, HERELL 6 BN AR ke
g g 1k i ) 2 2R AR B
3. 6 WIKMWIES HAE 4-6"EIE, WAREIEEANT 47, T LRSI LAORIE AL T MV i e iE i
O E . 8 JT KNGS HAR N 87-10"1F1E .
4, WRYE LT A KRN IR R R Lerh, AR BTk OT PR TR AT 5 1R o X2 R KA B AN L
R S I T [ YA 189 T S PRI 22 i A R A R ) 0 BV
5. HEFAEESH RIS AL —FR R, LS T4Ed.

nE (ﬁg) BUHDR | IRk BE TR} RO B
1Q-56-PVC 6" PVvC M % 316L A4 150* 140°F (60°C)
1Q-56-CPVC 6’ CPVC P % 316L A4 150* 210°F (98°C)
1Q-56-PP 6" PP M % 316L 454N 150* 195°F (90°C)
1Q-56-PVDF 6" PVDF W % 316L A4 150* 260°F (125°C)
1Q-56-316S/S 6" 316L NN 316L AN 316L AN 3000* 500°F (260°C)
1Q-56-HASTC 6” BEKE4C BEKE4C HIKE4 C 3000* 500°F (260°C)
1Q-58-PVC 8’ PVC ) 316L A5 150* 140°F (60°C)
1Q-58-CPVC 8” CPVC M & 316L A5 150* 210°F (98°C)
1Q-58-PP 8” PP ) 316L A5 150* 195°F (90°C)
1Q-58-PVDF 8’ PVDF P & 316L A4 150* 260°F (125°C)
1Q-58-316S/S 8" 316L AE4N 316L AN 316L 54 3000* 500°F (260°C)
IQ-58-HASTC 8” MKAE4 C WMIK&4 C mIKE4 C 3000* 500°F (260°C)

A7) PSIG 221 T3°F (23°C) iF 1. UM VY I i S 18 i1 22
ER: IEEHFR G 316L AHMHER, WRRENFABAEBAE GE R LA AT DA E R

PTG % )% (76 & 78)

FCAARH FE AT LR, R T IR R AT T

Wy R B4 C AP RHI# 3 AT AT

WMIKE4 C, PVDF AIRFE I (Teflon) 11[HIERH FELE.
PFS &% H S R An s ok .

W B IR B B 1 1
6 FhafH A kL

AR Sy A % NPT, BSPT B 4rakyk 2%

2R NsF KR 67 Al g
J& 1% 3 3000 PSIG




NOTE: SERIAL NUMBER & MODEL REQUIRED FOR PARTS ORDER

6

White
Sticker -
Model + S/N

Silver Sticker -

MATERIAL/SIZE CODING

X X X X
I

= HAST

S/S6 = (316 STAINLESS STEEL)
(HASTELLOY C276)
ALL20 = (ALLOY20)

TITA = (TITANIUM )

S/S6 = (316 STAINLESS STEEL)
HAST = (HASTELLOY C276)
TITA = (TITANIUM)

CR = (CERAMIC)

GFTFE = (25% GF TEFLON)
PVDF = (PVDF)

= S/S6 = (316 STAINLESS STEEL)

HAST = (HASTELLOY C276)
TITA = (TITANIUM)

DO O QR ® e 8 B e &
|

2.625 (2-5/8) INSERTION UNITS
4.625 (4—5/8) INSERTION UNITS

OTHER THAN STANDARD LENGTH
CONTACT FACTORY

(316 STAINLESS STEEL)
(HASTELLOY C276)
(ALLOY20)

(TITANIUM)

—A > I U
I

Contact Information
and flow direction arrow

* ADD SUFFIX —25 FOR 1/4” ORIFICE

-

ITEM # [ DESCRIPTION PART#
1 SEAT, CHECK IQ—1X—SEAT
BALL, CHECK IQ—1 & —BALL
SPRING, CHECK IQ—1® —SPRING
BODY, QUILL, W/ CHECK* IQ-5- @ - *
LABEL, DIRECTION, SILVER IQ—LABEL-DIR
LABEL, MODEL + SERIAL # MSLABEL

a

RESPONSIBILITY.

DO NOT COPY WITHOUT PRIOR WRITTEN APPROVAL FROM PRIMARY FLUID
SYSTEMS. ACCEPTABILITY OF SPECIFICATIONS ARE THE CLIENT'S

D

Primary Fluid Systems Inc.

PFS INJECTION QUILL — ALLOY
EXPLODED PARTS VIEW

[SCALE__ NTS DISC DRAWN BY BCB )
DATE 05 28 03 APPROVED DWG NO. REV.#
\PROJECT EXIQ—-SS 2




NOTE: SERIAL NUMBER & MODEL REQUIRED FOR PARTS ORDER

5

Silver Sticker -
Contact Information

6

]

|

|

w and flow direction arrow
White ;
Sticker -
Model + S/N p
¥4

MATERIAL/SIZE CODING
X = PVC = ( PVC )
X = CPVC = ( CPVC CORZAN)
X = PP = ( POLYPROPYLENE )
2 X = PVDF = ( PVDF )
® = CR = (CERAMIC)
® = GFTFE = (25% GF TEFLON)
® = PVDF = (PVDF)
® = S/S6 = (316 STAINLESS STEEL)
® = HAST = (HASTELLOY C276)
® = TITA = (TITANIUM)
® = S/S6 = (316 STAINLESS STEEL)
® = HAST = (HASTELLOY C276)
® = TTA = (TITANIUM)
#=PVC = (PWC)
# = CPVC = ( CPVC CORZAN)
~=P=(PVC)
~ = C = ( CPVC CORZAN )
~ = PP = ( POLYPROPYLENE )
~ =K = ( PVDF )
® = 2.625 (2-5/8) INSERTION UNITS
® = 4.625 (4-5/8) INSERTION UNITS
® = OTHER THAN STANDARD LENGTH
CONTACT FACTORY
@ = 0 (USED WITH PVC AND CPVC UNITS)
@ = 5 (USED WITH PP AND PVDF UNITS)
* ONLY USED WITH PVC AND CPVC UNITS
** ADD SUFFIX —25 FOR 1/4” ORIFICE
ITEM # | DESCRIPTION PART#
1 SEAT, CHECK IQ—1X—SEAT
2 BALL, CHECK 10-1 ®—BALL
3 SPRING, CHECK 10-1® —SPRING
4 BODY, CHECK* 1Q-BODY—#
5 LABEL, DIRECTION, SILVER | IQ-LABEL-DIR
6 LABEL, MODEL + SERIAL # | MSLABEL
7 QUILL** o-G-® -~

b~

Y

DO NOT COPY WITHOUT PRIOR WRITTEN APPROVAL FROM PRIMARY FLUID
SYSTEMS. ACCEPTABILITY OF SPECIFICATIONS ARE THE CLIENT'S
RESPONSIBILITY.

AL

Primary Fluid Systems Inc.

PES INJECTION QUILL — IQ—PLASTIC

EXPLODED PARTS VIEW

Al

Al

SCALE___NTS DISC DRAWN BY BCB
DATE__ 05 28 03 | APPROVED DWG NO. REV.#
(PROJECT EXIQ—P 2




